R #E3 ]

F27RBEFEMNNEAERTRI—XERIEREKRSICHT

it MDER 8K E40.7km

TILA—DER 5XR19.7km

111 EE 2855189 138 14 351 185165 22%)
24 A E 28551184 26F) 24 K 1855184 58F)
31 ZIE 2R 51204 38F) 31 Al 18195158
7451 EE 18551219 29F)
EERF—LOEHHRDE)
X EIRW30-W35[ FE2KM40 EIXM50 | FE4XW40-W45
ER 5.2km 5.2km 5.2km 3.1km
K4 K FRED ZFEX JtiE & K ¥
BiEsesk JEGD)|  18:16 (2) 34:52 (2) 52:36 (2) 1:04:05 (1)
XREcex (ESD)|)  18:16 (2) 16:36 (4) 17:44 (5) 11:29 (1)
X E5X M55 E6XM45 FETXM60- FE8XM35
ER 5.2km 5.2km 5.2km 6.4km
K4 E&)I FIE HHE B B E TEZESR
B ek (B4 1:21:55 (1) 1:39:19 (1) 1:58:31 (1) 2:18:13 (1)
XMEEcek JERD)]  17:50 (1) 17:24 (5) 18:59 (5) 19:42 (5)
EERF—LDREHRTILT—DE)
X F1X W50 F2X M65 FE3X M70 F4X W55 FE5X M60
ER 5.2km 3.1km 3.1km 3.1km 5.2km
K% Il F0F K& B AoEr 8h WH Bk JIER £
WaBEeEk (IEGL)]  19:59 (4) 33:14 (6) 46:58 (7) 1:01:16 (6) 1:21:29 (7)
XEEcek JBGD)|  19:59 (4) 13:15 (12) 13:44 (6) 14:18 (11) 20:13 (10)

AT RI—XEERERSER

B+ 5XME 13.0km

IT)LRA— 4X[E 10. S3km

141 BE 415358%) 14 N 4153328
241 EE 4245303%> 241 & 4253 34F)
31 K 42516F) 3{iL 3 4253518
Z+ 4X[E 10. 3km
1451 =B 385> 14%)
24 K 394508
31 BE 39426
44 EE 39455
EERF—LNDEHEBEF)
X £1X M35 E2KX M55 £3X M50 F4X M45 E5KX M40
Rt 3. 5km 2. 4km 2. 4km 2. 4km 2. 4km
K% MHE— =248 & tiE = HKHEER Z EBEX
BEadar ek (IESGD)|  10:33 (1) 19:09 (3) 26:58 (3) 34:44 (3) 42:03 (2)
XEEEek UERD|  10:33 (1) 8:36 (4) 7:49 (2) 7:46 (3) 7:19 (1)
EERF—LDEHREF)
X F1X W30 F2X W45 F3X W40 F4X W35
sk 3. 1km 2. 4km 2. 4km 2. 4km
K% WH ALK UTEE HINEF ENEER:
188 50 Bk (IEAL) 11:24 (2) 20:45 (3) 30:17 (4) 39:55 (4)
X E 50 #% (IE L) 11:24 (2) 9:21 (3) 13:44 (6) 9:38 (4)
EERF—LDEHFRTILT—)
X E1X M60 F2X W50 E3X M70 F4X W60
ER 3. 1km 2. 4km 2. 4km 2. 4km
K4 Bl &= WH EBi AREF 8 CaEF |
188 50 Bk (IEAL) 11:04 (1) 21:23 (2) 31:23 (2) 42:34 (2)
X [l B2 &k (B L) 11:04 (1) 10:19 (4) 10:00 (2) 11:11 (4)




